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12 |FEREN 1 ko E&XF 5.050 6.650 11.700 0.000 11.700 1
11 |BfEEEE] 1 [Br@F)#L4] 4600 6.300 10.900 0.000 10.900 2
13 |HEEE 2 B iR E [ 4500 6.250 10.750 0.000 10.750 3
10 |[#LthEam] 2 [EAFE+EER| 4.050 6.250 10.300 0.000 10.300 4
5 |2XEE 2 HEEFEE 4.000 6.150 10.150 0.000 10.150 5
7 | ER¥EE 2 BEST4H 3.500 5.750 9.250 0.000 9.250 6
8 [IlUAX B 1 ko E&F 2.900 5.700 8.600 0.000 8.600 7
2 _|&l 3 1 [JtERFE+HEE| 2.600 5.550 8.150 0.000 8.150 8
4 [LBEX 1 BMELFX 2.200 4.850 7.050 0.000 7.050 9
3 |FEExEA 2 ZHZE 1.850 5.100 6.950 0.300 6.650 10
9 |FHELR 1 B ERIREES | 1.900 4.550 6.450 0.000 6.450 11
1 [[MEEF 1 #HE)IZE 0.900 4.700 5.600 0.000 5.600 12
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4 EIREEIN 1 ko EZH  4.850 6.400 11.250 0.000 11.250 1
5 AR &R A X 2 Zr=E| 5.100 6.200 11.300 0.050 11.250 1
1 INE B 2 Ky HE&ZHA 3.100 5.500 8.600 0.000 8.600 3
3 SEHE 1 k4 %A 3.050 5.550 8.600 0.000 8.600 3
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8 |RHEHAIE = 5ZCEINE ::é 3.900 6.000 9.900 0.000 9.900 1
7 |[¥AEEKES 1 |BIHFE 3.400 5.950 9.350 0.000 9.350 2
9 |HEE¥ 2 h—.Lﬁl,\_LE]’ 2.550 5.950 8.500 0.000 8.500 3
11 |8k EEy 2 JtERFE+HAE  2.600 5.700 8.300 0.000 8.300 4
3 | KIXBKTE 2 PLBAEEEME  2.650 5.550 8.200 0.000 8.200 5
6 [FELZSEN 2 JLBAEE4EE  2.400 5.800 8.200 0.000 8.200 5
10 |ARERARE 2 ZHZE 2.550 5.400 7.950 0.000 7.950 7
2 |MH & 1 | HFEEES | 1.650 4.700 6.350 0.000 6.350 8
1 [FEgERE 1 | 8% FXK | 1500 4.000 5.500 0.000 5.500 9
4 [BXK BE 1 | B4R $| 0.750 4.350 5.100 0.000 5.100 10
5 |REREE 1| #ZF)IZE [ 0.300 3.900 4.200 0.000 4.200 11




